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 تصخل ام تقولا قيض ببسب
 روتكد صيخلت داه ،رتباشتلا
 هيلع تفضو ىسوم ميحرلادبع

 حرشلا للاخ مهيكحب يلا ستونلا
 ةداملا رخلآ كيه نوكي حرو

GOOD LUCKKKKK 
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3rd example in page 7
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ظفح

31 x + X = (1 +xi
= 1 + 15)x + 1)x + 1x+...

= 1 +Y +
5 - 1x + 55 - 11 + - 2x +

...

= 1 +1-
31

Ex
·

Find poly, to approximates FW =J
/sint'dt on 20

,
13 ? With extoo less than 10.

Maclanine of sint =-+ +
F

F(x) = &sint'dt=/It"-tol ..., at
- -

=-(15) 7! O
11

= -

sysis15 %5?

I
= 0

. 0238 > 0 . 00F(X)= Withessos
I ~ 0 . 000757 < 0 .

001F withes

Hence
,

PIX=-Flint at on

PIX1 and Ps(X1 ...
works with less esos and better approx.
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